Virginia High School League

Scholastic Bowl, 2000-01 season

District Competition, Match #3

These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
The condensation of an alcohol with an acid forms what class of organic compounds, which have characteristic fruity odors, an example of which is ethyl acetate?

ANSWER: ESTERs

2.
Euclid’s Fifth Postulate says that given a line and a point not on the line, how many lines parallel to the original line can be drawn through that point?

ANSWER: ONE

3.
In 1977, this political party, formed as an alliance of several right-wing parties, took power in Israel for the first time ever. Its leader Menachem Begin, then signed a peace treaty with Egypt two years later. More recently, Binyamin Netenyahu led this party to victory. What is this party in Israel that opposes the Labor party?

ANSWER: LIKUD
4.
The sky is orange. On a bridge in the background, two figures in black seem to be walking. In the foreground, in the center of the painting, another figure in black has his mouth wide open and has put his hands on the sides of his face in apparent horror. This is a brief description of what painting by Edvard Munch?

ANSWER: THE SCREAM

First period (continued)
5.
Wise Blood and The Violent Bear It Away were her first two novels. Who is this author from Milledgeville, Georgia, that is more famous for her short stories such as Everything That Rises Must Converge and A Good Man Is Hard To Find?

ANSWER: Flannery O’CONNOR
6.
THIS IS A COMPUTATION QUESTION.  A rock star gets paid $3 million for his latest album. Each of the 10 four-minute songs on the album took four days of studio time to produce. How much did the rock star get per day of studio time?

ANSWER: $75,000 per day

7.
The site of this 1890 massacre was also the site of a 1973 standoff between representatives of the FBI and the American Indian Movement. What is this site in South Dakota?

ANSWER: WOUNDED KNEE

8.
The ETA are fighting for an independent country for what people within northwest Spain whose language is unrelated to every other language on Earth?

ANSWER: BASQUEs

9.
His illegitimate son, Sorrow, dies at birth. He eventually marries the mother of his illegitimate son, and is then slain by her when her first husband returns. Who is this dissolute, wealthy young man, a character in Tess of the D’Urbevilles?

ANSWER: ALEC D’URBEVILLE

10.
They have spin of ½, an uncertain mass and charges of positive or negative 1/3 or 2/3. Protons and neutrons are thought to be composed of three of these. What are these objects which come in six types and whose symbol is a lower-case “q”?

ANSWER: QUARKS

First period (continued)
11.
This northern Greek city is home to the soccer club PAOK. It was also the site of a church that received two letters from St. Paul. What is this city, now the second-largest in Greece?

ANSWER: THESSALONIKA(I) or SALONIKA or THESSALONIA
12.
Starting at two o’clock, if the band slows down, we’ll yell for more. When the chimes ring five, six and seven, we’ll be right in seventh heaven. And when it’s eight, nine, ten, eleven too, we’ll be going strong. Such is the plot, as can be figured, of what classic Bill Haley and the Comets hit?

ANSWER: ROCK AROUND THE CLOCK TONIGHT
13.
His biography of Mary Todd Lincoln goes along with The Prairie Years and the War Years, his six-volume biography of Abraham Lincoln. Who is this writer, better known for his poetry collections such as Cornhuskers and Chicago Poems?

ANSWER: Carl SANDBERG

14.
In some animals this gland is important in determining seasonal mating plans. What is the name of the gland that secretes melatonin, regulating day-night cycling, located above the third ventricle of the brain?

ANSWER: PINEAL
15.
THIS IS A COMPUTATION QUESTION.  Life expectancy in a country has gone down 20% since 1980. It is currently 60 years. What was the life expectancy in 1980?

ANSWER: 75 years

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
Who is the composer of the Messiah?

ANSWER: Georg HANDEL
1B.
What Kafka novel is about the arrest and prosecution of Joseph K., a bank employee?

ANSWER: THE TRIAL
2A.
The Grapes of Wrath is the story of what family of Oklahomans who make the trek west to California?

ANSWER: the JOADs

2B.
What is the formula for a carbonate ion?

ANSWER: CO3
3A.
Glucose and fructose, when joined, form what disaccharide?

ANSWER: SUCROSE or TABLE SUGAR
3B.
What top-level Internet domain is used primarily by non-profit organizations?

ANSWER: ORG (accept dot-org)

4A.
THIS IS A COMPUTATION QUESTION. A right triangle has side lengths of 7, 10, and the square root of 149. What is the tangent of the SMALLER of the two angles?

ANSWER: SEVEN-TENTHS or SEVEN OVER TEN
4B.
The battle of Actium in 30 BC marked the final defeat of what famous pair of lovers that were opposed by Octavian?

ANSWER: (Marc) ANTHONY and CLEOPATRA
Second period (continued)

5A.
Someone who is pantophobic has a fear of what?

ANSWER: EVERYTHING
5B.
John Locke was a proponent of what doctrine that holds that infants are born free of prejudice, a two-word Latin phrase meaning “blank slate?”

ANSWER: TABULA RASA
6A.
Who is the president of France?

ANSWER: Jacques CHIRAC 

6B.
This seven-letter word comes from the Latin words meaning “to make none.” What is this word which can mean to counteract the effectiveness of, or to invalidate?

ANSWER: NULLIFY
7A.
What is the name of the title character of Camus’ novel, The Stranger?

ANSWER: MERSAULT
7B.
What type of energy arises from the slow cooling of the Earth since its formation and heat released from radioactive decay, and gets its name from the Greek for “earth heat”?

ANSWER: GEOTHERMAL energy

8A.
Hemoptysis (hee-MOP-tih-sis) is the coughing up of what material?

ANSWER: BLOOD
8B.
THIS IS A COMPUTATION QUESTION. Take a line segment AB and another line segment CD that meet at O. The angle AOC measures 80 degrees. What is the measurement of the angle BOD?

ANSWER: 80 DEGREES (opposite angles are equal – heh)

Second period (continued)

9A.
THIS IS A COMPUTATION QUESTION.  How many seconds are in a normal year?

ANSWER: 31,536,000
9B.
The Act of Union of 1707 united what country with England to form the United Kingdom?

ANSWER: SCOTLAND
10A.
What Chinese dynasty ruled between 1368 and 1644 and is best known for its pottery, especially vases?

ANSWER: MING
10B.
Who wrote the opera The Magic Flute?

ANSWER: Wolfgang Amadeus MOZART

Third period: 15 toss-ups 

1.
The redshifts of these objects run close to the speed of light, placing their estimated distance at billions of light-years from earth. They are frequently thought to be young galaxies with massive black holes in their centers, whose brightness is millions of times greater than normal galaxies. What are these objects, whose name is a contraction of “quasi-stellar object”?

ANSWER: QUASAR
2.
How many radians are in a complete circle?

ANSWER: 2PI or 6.28 

3.
Its ratification by Maryland in 1781 put it was in force for the next eight years, despite its numerous weaknesses, among them the fact that every state had to approve any changes. What was this document which served as the governing document of the United States before the Constitution?

ANSWER: ARTICLES OF CONFEDERATION
4.
Two answers are required. In case of a divorce, she will receive $1 million for each year she is married. He keeps the house and any wedding presents over $12,000. She waived the right to half his earnings during their marriage. Such are details from the prenuptial agreement of what two Hollywood fixtures?

ANSWER: Catherine ZETA-JONES and Michael DOUGLAS

5.
Urbian Fabre, Monsieur Leblanc, convict 24601, Ultimus Fauchelevant (FOASH-lih-vont) and Monsieur Madeline are some of the various names taken this man who became a convict due to stealing bread for his sister and their seven children. Who is this man, Victor Hugo’s protagonist in Les Miserables?

ANSWER: JEAN VALJEAN
Third period (continued)

6.
What three-word phrase, often referred to by its acronym, describes a stock that is being sold on a stock exchange for the first time ever?

ANSWER: IPO or INITIAL PUBLIC OFFERING
7.
What Renaissance sculptor is know for Herod’s Feast, St. George and the Dragon, and his statue of Jeremiah, but gained even more famous for having a Ninja Turtle named for him?

ANSWER: DONATELLO
8.
The love affair on a beautiful Caribbean island between Sorbonne-educated Jadine and Son, a handsome man with an aversion to white culture, is the subject of what book by Toni Morrison?

ANSWER: TAR BABY
9.
What triangular bone cover the upper part of the back between the second and seventh ribs and is called the shoulder blade?

ANSWER: SCAPULA
10.
THIS IS A COMPUTATION QUESTION. What are the extrema of the function 1/3 x cubed plus ½ x squared minus 12x plus 5?

ANSWER: THREE and NEGATIVE FOUR (the extrema are the points where the first derivative is zero – i.e. where x squared plus x minus 12 is zero)

11.
THIS IS A COMPUTATION QUESTION.  90 is 60% of what number? 

ANSWER: 150
12.
It is believed that after capturing the arsenal at Jerusalem, the seat of Southampton County, he wished to retreat to the Great Dismal Swamp and wage a guerrilla war. However, when the element of surprise was lost, his army was scattered. Who was this leader of an 1831 slave revolt in Virginia?

ANSWER: Nat TURNER
Third period (continued)

13.
In this epistle, Paul talks about the wages of sin. What is this epistle, the first of his epistles, found right after Acts in the Bible?

ANSWER: ROMANS
14.
Identify the prepositional objects in the following sentence. I am going to the nightclub to listen to the band play some songs from their latest album.

ANSWER: NIGHTCLUB, BAND, ALBUM
15.
What group of the periodic table contains seven valence electrons, and includes astatine, iodine, bromine, chlorine and fluorine?

ANSWER: HALOGENs

Spares
THIS IS A COMPUTATION QUESTION. A circle of diameter 10 has an angle AOB with its vertex, O, at the center of the circle. Assuming AOB measures 60 degrees, what is the length of the arc formed between A and B?

ANSWER: 5 PI OVER 3 or 10 PI OVER 6 (accept equivalents)

In zoology, this four-letter word can mean a pouchlike enlargement of the esophagus. As a verb, it can mean to cut off the tops, and with “up” it means to appear unexpectedly. What is this word which as a noun can either mean a short whip or the total yield of a farmer in a given year?

ANSWER: CROP
In what island country, is enosis, or union with Greece, an issue?

ANSWER: CYPRUS
The ozone layer is contained in what layer of the atmosphere above the troposphere?

ANSWER: STRATOSPHERE
Who were either of the two candidates who placed behind Dewey and Truman in the 1948 Presidential election?

ANSWER: Strom THURMOND or Henry WALLACE
All questions © 2000 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

